EEERENSRE=2) VB (EREF12EDFER
(ER30£8A30A~1188HEM)

RF K E B SAER (BUFHRYE)
RBERKENEARE (RFHD)

BESS TR EEAEE( 1 Sv/h)
. WEE-EES
No. | T R4 SR BE | soom IEF ke (thsk - 4D T 9186 =
mo | 2@ | #E [ 4@ | #0m | 48 | #1im
RERE | AEHE | AERE | AR | AEEE | HERE
_ 50cm 0.10 0.11 0.08 0.07 0.07 0.07
744 | SETHET REE EREAEM 9/ 148
1m 0.10 0.11 0.07 0.07 0.06 0.07
50cm 0.07 0.09 0.08 0.08 0.08 0.08
745 | SEEHET REE B/ AEREE 9A138
1m 0.07 0.08 0.08 0.07 0.07 0.08
. ) . - 50cm 0.08 0.09 0.07 0.08 0.08 0.09
746 | SRGHET ZELE RECELESRESIDKR 9R 148
1m 0.08 0.09 0.07 0.07 0.08 0.09
50cm 0.08 0.09 0.08 0.08 0.08 0.08
747 | SEEHET YIFEE BREMRANHE 9/ 148
1m 0.08 0.08 0.08 0.08 0.08 0.08
50cm 0.08 0.08 0.10 0.10 0.07 0.08
748 | SEEHET YIFEE 8/ s FEE 9A138
1m 0.07 0.07 0.10 0.10 0.07 0.08
50cm 0.10 0.11 0.11 0.12 0.10 0.09
749 | SEAHET INAR BREILE— /PR 9813H
1m 0.11 0.10 0.12 0.12 0.09 0.08
50cm 0.10 0.09 0.09 0.09 0.07 0.07
750 | SEEHET INAR BREILE /IR 9A 148
1m 0.09 0.10 0.09 0.08 0.07 0.07
. 50cm 0.08 0.08 0.09 0.09 0.06 0.06
751 SERET ol a5 BRETILRA PR 9/ 148
1m 0.07 0.08 0.09 0.08 0.06 0.06
N R L 50cm 0.10 0.09 0.07 0.07 0.09 0.09
752 | SEEHET EEFR EHEESRK 9/ 148
1m 0.10 0.10 0.07 0.07 0.09 0.09

X TEERAER/RRIER. FH29F9A5HALT10A13BICEHELMESRRERIRE=SILITHE EREFE 1R IS TSHEHR, TOMITDONTIE. HERICEEHT 2.
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